

# Your Title Sponsorship of \$20,000 will give

### A Gift of Smiles

to Children with Chronic Illnesses

# As a \$20,000 Title Sponsor You Will Receive



- 32 PAR-TEE Admissions (2 per Player), \$1,280 value
- **4 Teams** (16 players) in Tournament, \$8,000 value
- 4 Hole Signs & option to man own tent (please inform us if you need a tent), \$400 value
- 16 Pro Shop Gift Cards, \$300 per golfer (must be present to redeem), \$4,800 value
- 16 Helicopter Ball Drop Numbers (10 for each player), \$160 value
- Title Sponsor Introduction at Event
- Logo on All Printed Material and banner as Title Sponsor
- Title Sponsor Recognition on all promo material
- Linked Logo on Purple Playas Foundation Website
- Address Participants at PAR-TEE & Tournament
- Product Distribution available
- Full Page Color Ad & logo in PAR-TEE Program & Players' Bags, \$200 value
- Social Media Recognition as Title Sponsor
- First Right of Refusal on Title Sponsorship for next year's Tournament

### **More Sponsorship Information**

Rochelle Lentini

727-580-2616 • rochelle.lentini@amail.com

Michael Lentini

813-758-8372 • milentini69@gmail.com



## As a \$15,000 Awards Sponsor You Will Receive



- **24 PAR-TEE Admissions** (2 per Player), \$960 value
- 3 Teams (12 players) in Tournament, \$6,000 value
- 3 Hole Signs & option to man own tent (please inform us if you need a tent), \$300 value
- 12 Pro Shop Gift Cards, \$250 per golfer (must be present to redeem), \$3,000 value
- 12 Helicopter Ball Drop Numbers (1 for each player), \$120 value
- Logo on All Printed Material and banners
- Linked Logo on Purple Playas Foundation Website
- Address Participants at PAR-TEE & Awards Ceremony
- Product Distribution available
- Full Page Color Ad & logo in PAR-TEE Program & Players' Bags, \$200 value
- Social Media Recognition as Awards Sponsor
- First Right of Refusal on Pre Party Sponsorship for next year's Tournament

### **More Sponsorship Information**

**Rochelle Lentini** 

727-580-2616 • rochelle.lentini@gmail.com

Michael Lentini

813-758-8372 • mjlentini69@gmail.com



### Your Sponsorship of \$10,000 will give

## A Gift of Smiles

to Children with Chronic Illnesses

# As a \$10,000 Albatross Sponsor You Will Receive



- 16 PAR-TEE Admissions (2 per Player), \$640 value
- 2 Teams (8 players) in Tournament, \$4,000 value
- 2 Hole Signs & option to man own tent (please inform us if you need a tent), \$200 value
- 8 Pro Shop Gift Cards, \$200 per golfer (must be present to redeem), \$1,600 value
- 8 Helicopter Ball Drop Numbers (1 for each player), \$80 value
- Announced as Helicopter Drop Sponsor at Tournament
- Logo on All Printed Material and banners
- Linked Logo on Purple Playas Foundation Website
- Recognition at PAR-TEE & Tournament Event
- Half Page Color Ad & logo in PAR-TEE Program & Players' Bags, \$150 value
- Social Media Recognition as Albatross Sponsor

#### **More Sponsorship Information**

#### Rochelle Lentini

727-580-2616 • rochelle.lentini@gmail.com

#### Michael Lentini

813-758-8372 • mjlentini69@gmail.com



### Your Sponsorship of \$7,500 will give

## A Gift of Smiles

to Children with Chronic Illnesses

## As a \$7,500 Golf Cart Sponsor You Will Receive



- 16 PAR-TEE Admissions (2 per Player), \$640 value
- 2 Teams (8 players) in Tournament, \$4,000 value
- 2 Hole Signs & option to man own tent (please inform us if you need a tent), \$200 value
- 8 Pro Shop Gift Cards, \$100 per golfer (must be present to redeem), \$800 value
- 8 Helicopter Ball Drop Numbers (1 for each player), \$80 value
- Linked Logo on Purple Playas Foundation Website
- Logo on All Printed Material and banners
- Recognition at Tournament
- Quarter-page color ad & logo in PAR-TEE Program & Players' Bags, \$100 value
- Social Media Recognition as sponsor

### **More Sponsorship Information**

**Rochelle Lentini** 

727-580-2616 • rochelle.lentini@gmail.com

Michael Lentini

813-758-8372 • milentini69@gmail.com



### Your Sponsorship of \$5,000 will give

## A Gift of Smiles

to Children with Chronic Illnesses

# As a \$5,000 Food Sponsor You Will Receive



- 16 PAR-TEE Admissions (2 per Player), \$640 value
- 2 Teams (8 players) in Tournament, \$4,000 value
- 1 Hole Signs & option to man own tent (please inform us if you need a tent), \$100 value
- 8 Pro Shop Gift Cards, \$50 per golfer (must be present to redeem), \$400 value
- 8 Helicopter Ball Drop Numbers (1 for each player), \$80 value
- Linked Logo on Purple Playas Foundation Website
- Logo on All Printed Material and banners
- Recognition at Tournament
- Business Card Size color ad & logo in PAR-TEE Program & Players' Bags, \$50 value
- Social Media Recognition as sponsor

### **More Sponsorship Information**

**Rochelle Lentini** 

727-580-2616 • rochelle.lentini@amail.com

Michael Lentini

813-758-8372 • milentini69@gmail.com



### Your Sponsorship will give

## A Gift of Smiles

to Children with Chronic Illnesses

# As a Sponsor You Will Receive



Tampa Bay

	Tampo			Tampa Day
	\$2,500 Eagle Sponsor	\$1,000 Par Sponsor	\$500 Hole Sponsor	\$250 PPF Friend Sponsor
PAR-TEE Admissions	8 \$320 value	4 \$160 value	2 \$80 value	2 \$80 value
Teams/Players in Tournament*	1 Team / 4 Players \$2,000 value	1 Player \$500 value		
Hole Signs	1 \$100 value	1 \$100 value	1 \$100 value	
Pro Shop Gift Cards	4 (\$50 each) \$200 value	1 \$50 value		
Helicopter Ball Drop Numbers	4 (1 each player) \$40 value	3 \$30 value	2 \$20 value	1 \$10 value
Listed on PPF Website	Yes	Yes	Yes	Yes
Logo in Program	Yes \$50 value	Yes \$50 value	Yes \$50 value	Yes \$50 value
Social Media Recognition	Yes	Yes		
Advertisement	Business card sized ad in player's bag \$25 value			

\*Sponsor may substitute their own "self-manned tent" in place of a player and benefits.

Sponsorship will still be listed on website, player's bag, and social media.

### **More Sponsorship Information**

**Rochelle Lentini** 

727-580-2616 • rochelle.lentini@gmail.com

Michael Lentini

813-758-8372 • mjlentini69@gmail.com

#### **Purple Playas Foundation**

EIN 61-1896617

16608 Lake Heather Dr. • Tampa, FL 33618 • (813) 963-7227

ppf@purpleplayasfoundation.com • www.purpleplayasfoundation.org • 🚮 /PurplePlayas